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1 100 21 15m
BA (DBH) % cm
BA(cm2) DBH(cm) (%) (cm)
7.3 24 15 143 4.10
16.5 1.2 31 044 1.45
54 2.2 14 22.65 31.23
6.4 0.2 6.4 0.30 125
289.1 0.6 24.7 0.65 3.18
05 04 11 2.95 7.95
107.3 22 6.5 0.13 0.75
8.3 04 51 0.13 0.50
01 0.2 1.0 sp 0.05 0.30
01 0.2 1.0 2.30 215
1380.9 24 246 0.05 0.38
69.9 04 14.3 0.20 123
3119 18.8 35 0.05 0.50
01 0.2 1.0 sp 0.38 0.50
142.6 20 6.5 2.30 5.58
01 0.2 1.0 0.15 0.73
01 0.2 1.0 175 11.75
13 0.2 29 0.38 175
36.0 4.6 23 0.13 150
19 0.2 35 0.08 0.33
134 0.2 9.2 0.08 0.30
0.8 0.2 22 0.05 0.50
03 0.2 13 0.18 0.63
13 0.2 29 4.28 5.53
04 04 11 0.18 0.45
4.2 04 37 0.05 0.15
26 0.03 0.13
sp 0.03 0.15
1.68 6.60
0.20 0.68
sp 0.13 0.38
0.88 2.13
0.03 0.25
0.13 0.40
1.75 250
0.05 0.13
37




